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Martin Pike winds and launches his Westland Widgeon in the Scale Comp.

Catlin & Rory give a couple of models a very professional looking old Heave -Ho

q¦£°£=µ~±=®ª£¬²·=­¤=²§«£=¤­°=`~²ª§¬=~¬¢=o­°·=²­=¤ª·=²¦£§°=¡~²~®³ª²=¥ª§¢£°±=~¬¢=§¬=~¢¢§²§­¬
²­=¥£²=²­=¥°§®±=µ§²¦=¦~¬¢=ª~³¬¡¦§¬¥=±­«£=­¤=j~°²§¬ ±=­²¦£°=°³  £°=«­¢£ª±K=^±=·­³=«~·
±££=¤°­«=²¦£=®§¡²³°£±~ ­´£²¦£·=~°£= £¥§¬¬§¬¥=²­=ª­­©=ª§©£=~£°­«­¢£ªª£°±§¬=²¦£«~©§¬¥K

g­¦¬=^¬¢°£µ±



R

j­¢£ª=^§°¡°~¤²=l¡²­ £°=NVRV

Just Dandy

When you think of the animated scarecrows which were thescourge of the " Keep Britain Tidy " campaign a few
yearsago, you have to admit that the modeller of today is a moreelegant and hygienic creature than his wild and
unkemptpredecessor. Those crumpled, oil soaked bags, once thehallmark of the devout enthusiast, have given
way to well-tailored reach-me-downs, and that off-black shirt, guaranteed to make any detergent manufacturer froth
soap bubbles, hasbeen replaced by a foppish garment of whiter than whitebrilliance. Chins, too, are now worn
several shades lighterin hue, which suggests that razor blades have been given anew priority, while that sheep
dog hair style has been cutwell back above the eyes, and slicked down with more sociallyacceptable oils than
diesel and glow fuel.
Altogether, the modeller of today has become so presentablea specimen that the good ladieswho dish out the rally
hardware can go a whole session without once being revived with smelling salts.
Blame all this loss of character on to the cosmetic influenceof the telly commercials if you will, but I put it down to
thoseextra two wheels which have been added to the modeller’stransport. Gone is the rugged individualist of the
two-stroke,two-wheel era; in his grimy and effluvient place we have thewell-groomed car owner�very conscious of
his new foundstatus, and more concerned with keeping backseat Mother-in-Law in good humour, than in winning
a model contest.
But does this mean we modellers are getting soft? Well,we can take comfort from the thought, that, in all other
respects, the old anarchist traditions survive. Few clubroomsin the country can boast an unbroken stick of furniture,
and if,on occasion, the Chairman’s cry is heard above the generaluproar, it is only that four-wheel gossip can be
carried on withless noisy demonstration than the two-wheel variety. What ismore, the mechanical geniuses still react
with the same hurtsurprise when asked to turn their engrossed attentions totrivial model affairs.
On the whole, you might say, the modeller has not becomeso soft as well upholstered.
But, on the debit side, our fashion plate modeller doesn’t acquit himself quite so gamely in the jungle fringes of
the airfield as his near-to-nature antecedent. By the time he haspicked his fastidious way through the undergrowth
the localscavengers have snaffled his engine, and all other whip-ablecomponents. And, if the model gets tree-bound,
be it a cooperative sort of outgrowth, with thoughtfully provided footholds, and not the usual monster, with a bark
smoother than that of a pampered poodle, he’s had it. That monkey businessis a thing of theprimeval past.
Cornfields, too, present a pretty problem. The old scarecrow modeller outwitted the ever vigilant farmer by playing
O’Grady. When spotted he only had to stick a straw in hismouth and extend his arms to become part of the
landscape.Whiteflannels, on the other hand, present much too tempting a target to any shotgun toting farmer.
On evidence, it would seem that to be a successful contestmodeller you have to stick to the scruff order traditions.
In fact, the only one who keeps the old style shirt tails flying, is the one who never loses a model�or a contest.

Under Starter’s Orders

We may not know where flyers go in the winter, but, ateast, we have a clue to where novices go in the summertime,
I had always imagined the speciesexistedmerely forthesabotage of club meetings as they avoid the flying field like
the plague. But, apparently, they only use the clubroomas a training ground. Their real effort goes into the
organisingof our contests, to which they bring that brilliant understandingwhich has brought so many clubs to the
brink of ruin.
With all the clueless types falling over each other in the madrush to run our contest events, qualifications for the job
arenecessarily high. The first requisite is the complete inability toread a stop watch. Next comes a total incapacity
to distinguish one model from another. This ensures that a modelentered in the radio event has an equal chance of
winning thepower duration as a combat model.
Don’t think, however, that the novice officials are onlyconcerned with creating chaos and confusion among the
experts. They have their own bit of fun on the side. Insteadof timing the wrong model, as is the usual practice,
they all time the same one. The one getting nearest to the secret timeis the winner, provided he doesn’t time the
flight correctly, in which case he would be disqualified.
Only in running the team race and combat events do thenovices come unstuck. They are completely outwitted by
theentrants, who manage to gum up the whole affair before thenovices can make a move.
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The T-Trays , David Lovegrove�s left and Mike Spencer�s right.
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Boycott Beal�s �Sportster� & �Popsie�
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Spook and Privateer difficult to land in the windy conditions, & a Very smart Shiffermuller

Ian Andrews with AM15 Madcap. Aileron and non -aileron Super Sixties
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